NAME . : Date

P&“@@tgce o

For use with pages 501508

- Solve the exponential equation. Round the result to three
-decimal places if necessary.
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Solve the logarithmic @qua‘iu@n Round the result to three
decimal places if necessary.
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log2x+ 1) =1 ' 14. m(x+3) —2=28 15. logs(x —2) + 5 =7
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In(6x + 5) =7 17. in(x — D+ lnx=0 18. log, x + log,(x + 1) =1
log;x + logs(x —2) =1 . 20. logy(x + 1) —log,x =3

log,(x + 2) — logy(x — 3) = 222. log(3x + 2) = log(2x — 1)

log(x? — 1) = log(x + 5) 24. log(x + 2) + log(x — 3) = log(x + 29)
log, x + log,(x — 2) — log,(x — 3) =3 7
log{x —3) —dogsbe — 1) — log;(x + 3) =



